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I | 73l 1 g B | #E |stL%=| BEEE) *% (M) =
AT X 1.0 1 886,000
AT = 1.0 1
HE Al T8 m3 309.7 310 1,000 310,000
BRiuoET =X 1.0 1
THEERR m3 360.0 360 1,600 576,000| 10km&LTETE
ZEERET 2 1.0 1 6,215,400
fE%tT = 1.0 1
PRYEY m3 2491 250
T8 m3 2491 250 300 75,000
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BARIERIE 1mlE4mKE| m3 135.7 140 1,600 224,000
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BAERIE 1mlE4mKiE| m3 15 2 1,600 3,200
RKERE 1mKiEb m3 5.3 5 2,300 11,500
EmELE T m2 9.8 10 400 4,000
EBEMARYMT E2 1.0 1
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B A B a3 s
(m) Er m E B =
NO. -1 +  6.860 0.0
NO. -1 + 8700  2.300 6.1 3.05 7.0
NO. -1 + 8700 3.0 4.55 0.0
NO. -1 + 12500  4.400 3.0 3.00 13.2
NO. 0 8.700 6.5 4.75 41.3
NO. 1 22.600 5.9 6.20 140.1
NO. 1 10.360]  11.600 4.0 4.95 57.4
NO. 1 10.360 4.4 4.20 0.0
NO. 1 10.660|  0.300 4.4 4.40 13
NO. 2 9.400 6.1 5.25 49.4
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EHERL
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(m) Wr | I 15 e Wr M T 15 B = W M ) ® =
NO. -1 + 6.860 0.0 0.0 0.0

NO. -1 + 8.700 2.300 3.4 1.70 3.9 1.8 0.90 2.1 0.3 0.15 0.3
NO. -1 + 8.700 3.4 3.40 0.0 1.8 1.80 0.0 0.7 0.50 0.0
NO. -1 + 12500 4.400 3.4 3.40 15.0 1.8 1.80 7.9 0.7 0.70 3.1
NO. 0 8.700 3.4 3.40 29.6 1.7 1.75 15.2 1.0 0.85 7.4
NO. 1 22.600 4.8 4.10 92.7 2.7 2.20 49.7 0.9 0.95 21.5
NO. 1 + 10.360 11.600 5.4 5.10 59.2 3.1 2.90 33.6 0.9 0.90 10.4
NO. 1 + 10.360 55 5.45 0.0 3.1 3.10 0.0 1.2 1.05 0.0
NO. 1 + 10.660 0.300 5.5 5.50 1.7 3.1 3.10 0.9 1.2 1.20 0.4
NO. 2 9.400 4.5 5.00 47.0 2.5 2.80 26.3 1.1 1.15 10.8
& & 59.300 249.1 135.7 53.9
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avol—k
0 28=18N/mm2 (0.717+0.726) /2 x 0.100 X 10.0 = 0722 m3 0.72
B
INBURESE Y 0.100 x (1.118+1.077) X 10.0 = 2195 m2 2.20
B st
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NO. -1 + 8.700 3.350
NO. O 13.100 13.000 13.050 4.360 3.855 50.31
NO. 1 22.600 22.400 22.500 4.140 4.250 95.63
NO. 1 + 9.460 10.600 10.550 10.575 4.020 4.080 43.15
NO. 1 + 9.460 3.020
NO. 1 + 10.140 0.700 0.700 0.700 3.010 3.015 2.11
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NO. 1 + 10.660 4.920
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NO. 0 8.700 2.2 2.00 17.4
NO. 1 22.600 2.1 2.15 48.6
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= W4
| D138300
1000
§ — Y | 850 15
2 2l _ " @ _
% 1030 R1 E g g "&%
Wi 1130 pise200 g £ 1130 e g
D13@300 f E 50 ] E 2
S g B
'\ : \.'L.Q ™~
AN R L 2
g § 2 \or| g gl e TE
= o § 2= - ,"p_q .
= JE:|
15 1330
1480 15 1500 15!
1630 15! 15 1650
15 1800
108y
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JE AR |(1.555+1.473)/2 % 1.030 X 0.150 0.234
((1.761+1.584) /2 x 1.030+(1.836+1.660) /2 X 1.030) X 1/2 1.762
1.762 X 0.15 0.264
/\g1]0.234+0.264 0.498 m3
{A1E%] (1.555 x 1.330+1.160 X 0.850+0.425 X 0.850/2) X 0.200 0.647
(0.180+0.2 X 1.500+0.180) /2 X 1.500 X 1.473 0.729
(0.150+0.2 X 1.650+0.15) /2 X 1.650 X 0.936 0.486
(0.150+0.2 X 1.650+0.15) /2 X 1.650 X 0.825/2 0.214
/NEH|0.647+0.729+0.486+0.214 2.076 m3
&51]0.498+2.076 2574 m3 257
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(1.473 x 1.500+(0.936+1.762) /2 X 1.650) X 1.020 = 4524
INE]3.711+3.235+4.925+4.524 =  16.395 m2
F230.20 x 1.33+(0.18+0.2 X 1.50+0.18) /2 X 1.50+1.030 X 0.15 = 0916
0.20 X 0.85+(0.15+0.2 X 1.65+0.15) /2 X 1.65+1.030 X 0.15 = 0844
/NE1]0.916+0.844 x 1.118 = 1.860 m2
15 26]0.20 x 0.48+(0.15+0.18) /2 X 0.15 = 0121 m2
&5t]16.395+1.860+0.121 =  18.376 m2 18.38
HEE
RC-40 t=150mm ((1.555+0.904) +(1.473+0.970))/2 x 1.130 = 2770 m2 2.77
HEEITE
T m2 2.77
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SEEE # B #F B & NO.
A-AbTE
’ 013
g D13
8 é R) mis H% R bis
R2) 13
@mz i ®D‘3
J!L 013
61195
1852%]_sa200-1000 76200=1400 169)
3061
1551 1669
B-BEfi E
\\V
N\ R) 13
A R2) big
T 1
D13 D13
66200=1200 87 78200=1400 l169
! 3145
1478 1826
1.0ERTHY
CAR S & # B {1 #®E
7371
SD345 D13 BHEERLY kg 99.0
& BE B
BEREEX
Bl # & & B f# B E|-4s3YEE g g i ES
R D13 3540 1 0.995 3.52 25 u
R2 D13 3240 4 0.995 3.22 13 u
R 3 D13 3570 1 0.995 3.565 4 [l
R4 D13 3260 2 0.995 3.24 6 d @8R
Rs D13 2270 3 0.995 2.26 1 [ (FHR)
R6 D13 3520 1 0.995 3.50 4 u
R7 D13 1930 1 0.995 1.92 2 L
61
Wi D13 3110 5 0.995 3.09 15 | — (FHR)
W2 D13 2710 5 0.995 2.70 14 | — (FHR)
W3 D13 2770 3 0.995 2.76 8 | — (FHR)
W D13 1410 1 0.995 1. 40 1
38
& & D13 99 kg
KEE 99 kg
e &R
(5 AT 1.0




EitEE B = F B E NO.
1060
1060
avyl)—+ 50].180  2@300 180 | 50
028=24N/mm2 =600
avyl)—+
0 28=18N/mm2 4 J’\Q
= PRERE== S =) 2
Y E’f_ESEK/' —
M— B 4t - L= —&
B #h 4t S t=10mm |
t=10mm S 206' 664 190
< ELE
D13 @300 -
N=6, L=0. 20m w
g Z
S N=5, L=1. 45m
S S1
D13
2@300 _ _
600 ligo| |50 N=13.L=0.96m
1060
108y
2 ¥R &t =1 = =R (v =
avol—k
0 28=18N/mm?2 1.060 X 0.150+1/2 X 0.206 X 0.033+1/2 X 0.190 X 0.031 =  0.165
0.165 X 1.500 = 0248 m3 0.25
B
INRREEY) (1.060+0.664) X 1.014 X 1,500 = 2622
(0.15 X 2+0.033+0.031) X 1.500+0.165 X 2 = 0876
i = 3498 m2 3.50
B #h44
BEEWMHEE t=10mm [(0.206+0.190) x 1.500 = 059 m2 0.59
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1060
1060
avyYy—Fk 50]180 28300 180 |50
0 28=24N/mm2 =600
avy)—+F
0 28= 18N/mm2 . L?
=2 y oS =3 S
of=—TC o= N e
= B 4 g = —5F
B # #4 S t=10mm |
t=10mm = 206 664 190
< N
D13 @300 -
N=6,L=0.20m _ =
g 2
=
= N=5, L=1. 45m
© D13
20300 iai
50| [180| =goo [180||50 N=13.L=0-96m
1060
108y
2 M- IRE it = = B M=
%5
SD345 D13 (0.960 X 13+1.450 X 5) X 0.995 =  19.631 ke 19.63
0.200 X 6 X 0.995 = 1194 ke 1.19
B ke 20.82
XRT EHESE
INTHR—FXR  |(1.363+1.469) /2 = 1416
1.363=1.480-0.150+0.033
1.469=1.650-0.150-0.031
(0.350+0.20 x 1.416+0.350) X 1/2 x 1.416 X 1.500 = 1044 Z°m3 1.04
I &R
[E=13 1.0




EitEE B = F B E NO.
200 avsy—¢
028=18N/mm2
\ZI
E R
RC-40 B=0. 4H+200 10
B+100
A ERED)
2 ¥R B =1 = =R (v =
avol—k
0 28=18N/mm2 BEHEELY = 2382 m3 2.38
B
INREEY) BEHEELY = 1277 m2 12.77
HEEH
RC-40 t=200mm HEHEELY = 472 m2 472
EIER
m 3.8
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SEEE M 2 B B £ NO.
]
avyy—+
028=18N/mm2
S
S
\ E B
RC-40
10.0m24Y)
2 M- IRE 5 = = B M=
avol)—k
028=18N/mm?2 0.100x10.0 = 1.000 m3 1.00
EIEH
RC-40 t=100mm 10.0 = 10.000 m2 10.00

T EE
3.770x1.10 = 4147 m?2 415




REBHEENR) BHBHEE

WS avy)—k B EHEtt
A& BipREg H 0.20H+(0.40H"2)/2-(0.00H"2)/2 2.077H 0.40H+0.20-0.00H+0.10 =
(m) (m) B m | T | B E | WE | T BE | @R | T HE
NO. 1 + 5.800 0.500 0.150 1.039 0.500
NO. 1 + 9.100 3.770 1.130 0.481 0.316 1.191 2.347 1.693 6.383 0.752 0.626 2.360
NO. 1 5.800 0.500 0.150 1.039 0.500
NO. 1 + 9.100 3.770 1.130 0.481 0.316 1.191 2.347 1.693 6.383 0.752 0.626 2.360
(=) —
w =
s s
= =
= =
REET 3770
(=3
o
Lo
- m3 m2 m2
= B
2.382 12.766 4.720




HEMRET

BEEHX # = B3 NO.
2 M- IRAE = =R [v) # =
BEYRELT
= 1.0
a9 )—MEEMEUEL
EEFEEY. MEET | BEHEELY m3 11.0
BRER K ERERIRL
EGEEY. BT |REHEE LY m3 3.9
&t m3 14.9




BEYRELIBEHEE

S H—LEE
- B B V) Fﬁ:_fl%ﬁiiib -
(m) Wr | 1y e
NO. 1 +  10.000 1.1
NO. 2 10.000 1.1 1.10 11.0
& & 10.000 11.0
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EitEE M 2 B B £ NO.
MEHERKR IO vy 3.m
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Dﬁ%
57.38
% 1030
0. 9on2 200 350 _ 330 150
g 2 2 &
2 3
1030
108y
2 M- IRE &t =1 = B ff M=
BRER K EREIRL
EAEEY . B 0.2 1.48+(0.15+0.2 X 1.65+0.15) /2 X 1.65+1.03 X 0.15 = 0970
0.970 X 4.0 = 3880 m3 3.88
EIER
m 40
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W=3.0m (RC-40,t=10cm)

e B £ I NO.
2 M- IRAE = B ff M=
ITEAERT
= 1.0
ITERERET
m3 79.2
R F|
m 40.4




TERERIHEHESE

B A A I$§]@ﬁ% =
(m) Er m E B =
NO. -1 + _ 6.700 1.1
NO. -1 + 12500  6.700 1.1 1.10 7.4
NO. 0 8.300 1.2 1.15 9.5
NO. 1 21.100 3.3 2.25 475
NO.1 + 4360 4300 3.6 3.45 14.8
TEAER
i
INET 79.2
& & 40.400 79.2
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NO.
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IHMEH L0 4n

NO.-146.70

NO. 144,36

v54. 700
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> e ‘ ES‘\ '_‘Z\Ljujuz—u—ggzjz‘_—-r

1oy
B R & # B {1 #uE

BRLF HRELER
W=3.0m (RC-40,t=10cm) |40.4 = 40.40 m 40.4
HEmEE

40.4x3.0 = 121.20 m2 121.2




